Choose closet answer.
pred = predicted, frac = fraction, regr = regression, expl = explained by, etc.

1-10 X=6,Y=10,58,=5,s,=3,r=0.8, n=300
- slopeofnaive: a. 1.7 b. 1.8 €) 0.6 d. 1.2 e. 0.7
. slopeofregr: a. 1.7 b. 1.5 ¢c. 1.9 d. 1.2 0.6

2 |
frac s, explbyregr: a. 0.1 b. 0.2 c. 0.3 d. 0.5
r[6x+2, 3y-4]: a. 0.5(b. 0.B)c. 0.6 d. 0.65 e. 0.7
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11-12 (x, y) datais {(0, 2), (4,

11. Slope of regr: a. l.Oc. 1.6 d. 1.8 e. 2.0
12. y-i.nte;cept:b. 2.4 c. 3 d. 3.7 e. 4.1

13 - 14 Data {2, 4, 7}

13. sforabove-data: a. 2.0 b. 1.

14. 5 for above data :b. 1.
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predy forx = 16: a. 13 b. 14(C. 15)d. 16 e. 17
estofuy if iy = 6:@. 10 b. 9 c. 11 d. 12 e. 13

8. stddevofyatx = 14: a. 3.6 b. 2.2 c. 2.9

9. Isregr of yon x same as regrofxony?b. yes
10. Isx[x, y] = r[y, x]? a. no

. predy forx = 11:b. 13.5 c. 14 d. 14.5 e. 15
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